Consumption More on Inheritances c_{H} $c_{s}+c_{H}\frac{1}{1+r}=y_{s}+y_{H}\frac{1}{1+r}$ c_{S} Lectures in Macroeconomics-Charles W. Upton

The Immortal Consumer

$$U = \gamma_1 \log (c_1) + \gamma_2 \log (c_2) + \gamma_3 \log (c_3) + \gamma_4 \log (c_4) + \gamma_5 \log (c_5) + \dots$$

KENT STATE

Consumption- More on Inheritances

The Immortal Consumer

U =
$$\gamma_1 \log (c_1) + \gamma_2 \log (c_2) + \gamma_3 \log (c_3) + \gamma_4 \log (c_4) + \gamma_5 \log (c_5) + \dots$$

U= log (c₁)+
$$\gamma$$
log (c₂)+ γ ²log (c₃)+ γ ³log (c₄)+ γ ⁴ log (c₅)+... 1> γ >0

KENT STATE

onsumption- More o

The Immortal Consumer

$$z = y_1 + y_2 \frac{1}{1+r} + y_3 \left(\frac{1}{1+r}\right)^2 + y_4 \left(\frac{1}{1+r}\right)^3 + \dots$$

KENT STATE

Consumption- More of

Hall Test

$$c_t = \phi z_t$$

Consumption- More on Inheritances Hall Test

$$c_t = \phi z_t$$

$$C_{t-1} = \phi z_{t-1}$$

KENT STATE

Consumption- More on Inheritances

Hall Test

$$c_t = \phi z_t$$

$$c_{t-1} = \phi z_{t-1}$$

$$c_{t} - c_{t-1} = \phi(z_{t} - z_{t-1})$$

KENT STATE

Consumption- More on Inheritances

Hall Test

$$c_t - c_{t-1} = \phi(z_t - z_{t-1})$$

Any changes in z must be unexpected.

KENT STATE

Consumption- More on Inheritances

Hall Test

$$c_t - c_{t-1} = \phi(z_t - z_{t-1})$$

$$c_{t} - c_{t-1} = \phi \varepsilon_{t}$$

KENT STATE

Inheritances

Hall Test

$$c_t - c_{t-1} = \phi \varepsilon_t$$

$$c_{t} = c_{t-1} + \phi \varepsilon_{t}$$

$$C_t = C_{t-1} + \mathcal{E}_t$$

KENT STATE Consumpti



















